KOHI ER COMPONENTS 3%
SERVICE PARTS PAGE
® HEZHE

1111937-*
Screw Cover Cap
M6 CSK Grey
swz=ig
1331780 BEIR
Trolley Wall Body Assy
RIFF LG EELA
1341685
Bubble Seal
ERE

1341838-* @@
Components Handle

Double Handle, L=450mm

ZEALF, 3, L=450mm

1343926
Magnetic Seal
His
1341925-*
Panel Glass,

Magnetic Seal, Components Hinge
B MEEIRIE(G)

1341923-*
Door Glass, Components Hinge

II(H)

1361149-*
Cover

B E i

1341818-*
Side Wall Clip Assy

ZHESKIERAN E 2

1269841

1361148
Fixed Piece
EEH

1380416-T8-C

|
FHEM+FERNG M5 22— | k2
Screw M5*22

SCREEN, 1D2P, 10mm, HINGE
—F 8, FE—E, 10mm FERF
K-701802T

1341605-*
Panel Glass Trolley Body Assy
EIFHIAT R R EEA

1341931-*
SS Tube, 10*30, Components
10*30 REENRE

1341915
Waterproof Part
FREERE R

1341483
Soft Close Hinge, Up
ZERTIAIRE

1341969-*
Cover Assy, Hinge
FER SN A

AR

A\

/ 1341924-*

Panel Glass, Components Hinge

EERIE(A)
1341484
Soft Close Hinge, Down
ZERYIERRE
1341932-R
Seal Assy, Moving Glass Bottom, RH

EKEEA ()

1361151-*
SS Tube, 10*15, Components Screen, 1D2P
ME—ERHEW TKF10"15

* Color code must be specified when ordering.
* TR B A ERS .

-1-



KOHLER.

-
COMPONENTS Z2#&
SERVICE PARTS PAGE

BRI

SCREEN, 1D2P, 10mm, HINGE
—F8, WE—7E, 10mm HRH

K-701802T
P/N EHS DESCRIPTION ##if COLOR Eiifa

% 1341923 Door Glass, Components Hinge 10mm [ J#E 10mm
* 1341924 Panel Glass, Components Hinge 10mm EIEIIE 10mm
* 1341925 Panel Glass, Magnetic Seal, Components Hinge W45 MIEIEHIE FM, IC
% 1341983-* |Panel Glass with Big Shelf, Components Hinge 10mm t{#EEEIFIE 10mm
% 1341984-* |Panel Glass with Small Shelf, Components Hinge 10mm HH4EEEHIE 10mm
% 1361151-* |SS Tube, 10*15, Components Screen, 1D2P FE—EREW F147k% 1015 2BL, S, RGD, AF, BN
1361149-* Cover EIEHEIME 2BL, S, RGD, AF, BN
1341818-* Side Wall Clip Assy ZiEE kg ILA 2BL, S, RGD, AF, BN
% 1341931-* [SS Tube, 10*30, Components 10*30 RENRE 2BL, S, RGD, AF, BN
1331782-* Trolley Wall Body Assy T _E3SEEARM 2BL, S, RGD, AF, BN
1341605-* Panel Glass Trolley Body Assy EIMHIITHEEELA M 2BL, S, RGD, AF, BN
1341483 Soft Close Hinge, Up ZERFIAIIEHE
1341484 Soft Close Hinge, Down ZEZRFIARBIKEE
1341969 Cover Assy, Hinge &I S04 2BL, S, RGD, AF, BN
1111937-* Screw Cover Cap M6 CSK Grey MB££z=18 2BL, CP, RGD, AF, BN
1341838-* Components Handle, Double Handle, L=450mm ZEHIF, 3%, L=450mm 2BL, S, RGD, AF, BN

1341685 |Bubble Seal EAMRE
%A 1341987 |Components Hinge Pivot Seal Strip Package Kit 10mm 1343926  (Magnetic Seal Hi%

ZEFIEHEAE 10mm 1341932-R [Seal Assy, Moving Glass Bottom, RH El7k #4844 (45)

1341932-L [Seal Assy, Moving Glass Bottom, LH EIK{&B 4 (/£)

1269842  |Screw M5*10 REEM+FF k& M5*10

1361147  |Gasket RE

1361148  |Fixed Piece EEM

1269841  |Screw M5*22 REEM-+FF L& M5*22

1057064 |Wall Anchor BZBKE (NIZERHI)

1157853  [Screw Key 2.5mm H7<AIRF 2.5mm

1095457  [Screw Key 3mm W73@1RF 3mm

1078917  [Screw Key 4mm W7<AIRF 4mm
1380416-T8-C -2-



KOHLER.

COMPONENTS Zi&

SERVICE PARTS PAGE
HIEEHE

SCREEN, 1D2P, 10mm, HINGE
—F 8, [E—E, 10mm EHRFH
K-701802T

Note: Components marked in A can only be ordered in whole pack. When ordering components marked in % , customers need provide

measurement form and corresponding product SKU.
AR FAESHNAIEEITN, Sk AimESHITERFRHINNE 28~ mSKUS,

Glass options: C, L3, L4, L5, L8, L9, CI, EL, MZ, GB, GG, GA, GR, TA, SW
IFIETEL AT /IERE: C, L3, L4, L5, L8, L9, CI, EL, MZ, GB, GG, GA, GR, TA, SW

FM-It is for filmed glass. Please refer to the table for FM glass.

FM-Itb SHEAIEERKE, EREFME, REEBRRFMKEIZINESE RIEELHRED.

IC-lt is for laminated glass with easy clean coating. Please refer to the table for IC glass.

IC-tb ST KEHE W, ECEICH, REERRICIKIEEMSE RIEELHANID.

Table for FMSW glass Table for IC glass
FMSW IFIEIN &£ & ICIHEE RIS E R
PN 245 DESCRIPTION #& PN 245 DESCRIPTION #5&
1291888-L3 BN, L3 1291888-GG-NA  |lBEX, GG
1291888-L4 WIS, L4 1291888-GA-NA JBE=®, GA
1291888-L5 BEEL, L5
1291888-L8 KEREL, L8
1291888-L9 LRTES, L9
1291888-MZ SEEE, MZ
1291888-Cl FEEERL, Cl
1291888-EL EERAEL, EL
1291888-GB EBEEEL, GB
1291888-C BRIE, C

1291888-GR-NA 28Ik, GR

1291888-TA-NA IRIAR, TA

1291888-BSZ-NA |[&BIFHAENEZR/)\, BSZ
1291888-BMZ-NA | BEFLEEIRS, BMZ
1291888-BLZ-NA |&BHEVLAHERK, BLZ
1291888-GSZ-NA |[RBEELEHNEZR/\, GSZ
1291888-GMZ-NA |IREEXLHEZRS, GMZ
1291888-GLZ-NA  |IREBEFLENEZEK, GLZ

1380416-T8-C -3-



